PRACTICE PROBLEMS - UNIT 20

20A. Draw the enol or enolate form of aldehydes and ketones.

20A.1 Draw all possible enol forms for the following compounds.
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20A.2 Briefly explain why the following isomerization occurs in the presence of an acid or base catalyst.
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20B. Predict acid-base properties of carbonyl compounds. C‘*5 S\‘QOQOQ\N‘“\\S*‘}

20B.1 Whi ?
1. Indicate all acidic protons (pKa < 25) on the molecule below.
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20B.2. Explain why compound A is more acidic than compound B.
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20B.3 What is the advantage of using LDA over LiNH, as a base? | DM s Yoo \Qr%*o Se.
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20B.4 Predict the product. If no reaction write NR. e & L
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20C. Predict products of c-halogenation, a-alkylation and the haloform reaction.
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20C.2 Explain why compound 1 is reactive to base but compound 2 is not.
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d) The product of malonic ester synthesis must
have one alpha proton which comes from the
decarboxylation step.
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g) This synthesis doesn’t work because the 2°
halide would undergo elimination rather than
substitution.
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j) Bromobenzene is sp? hybridized and cannot
undergo an Sy2 reaction.
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m) Not possible - t-butyl groups cannot undergo

an Sy2 reaction
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